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/ Read n,l,Line Data 7
i

Form Y,

ol

Read Bus Data:

1- Slack bus Voltage |Vl '81

92~V and Pg for PV busses
spec i

3- Pp and Qp ,i=1,2,...,n

4- Q; and Qimi for PV busses

max o

Set PG =Qg =0 for PQ busses
i i

Pi=PG -Pp i=2,3,....n
1 1

Qi=QGi—QDi for PQ busses
i

Make initial Assurﬂptios | Vi

for PQ busses | and d; for

i=2,3,...’n

[ 1




Gen bus ? Vi=V; di
/ spec
No
L Vi=VI
1 [ Pi-iQi < k=1
(k)= s 0 = YV K
k—1
AV =} v _y k1|
Avmcx = Avi(k)
i—i41q
k—vk+1

Compute Py, Qq, Pg;, Qg
Q,Qs fov PV busses

and Line Flows

Print Results




B Sl 5y ol 4o 58 iy lio Ll oga
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V1=|V1|5pec'=10 Lu.Du.ul.JlEl_JJ
Vi =|Vj¥ee <0 (PV) 3ty JyiS Slgwly Sl
V.=1<0 (PQ) 0 500 Slgusls Sl

Iyl GasS Gng, @ LU yasy 1 2-1 Jlio

Vo=IV|<0, V= V,|<0,

z, =.0132+ ;0662 puQ)
€348 Iy JaslurmiusS g @ 515 s 50 65 3l g 1) 3 5 2 Slausly 51
J>
gl 0825 57 Slgil g dunlo

P =Pgy-Ppy=0-1=-1 Pah =P Ppa=0-1=-1
Q%"= Qg - Qpp=0-.75=-75 Q% = Qg;— Qpy=0-.75=-75




+ (Loawls uiliood] s 5ilo dulsno)2-1 Jlio J> aols|

V,=1<0

y, =1/2, = 1/(.0132+j.0662) = 14.81 < -78.7

Vg =Ya3 =V, = 1481 <-787
Vor =2y, =2962<-787

1S,b8 e olic
Vi2 = Va1 = Va3 = VY32 = V. = 14.81 < (-7/8.7+180) = 14.81 < 101.3

Y13=Y3 =0

(Jsl ,1,9)2-1 Jlio > dols|

V= V,|Pec<0=1<0 VAV=1<0 c3ldy o8 i uolio

Pj.ﬂ:ﬁ _ jQ sch -
V- : _ Z .}J.I:]"Fl:]
i E=1

Ewi

Pmb_.fgﬂh = 1 P""h—jQ
P'; : _Z:yli"]?k)z 22{ : V; 2 _y21 yﬁ V)
Lo
_ —J
= 064<—7869" a<oy —(14.81<1013).(1< 0)—(14.81<1013).(1<0))=0.96897<—1.66
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.hti

| —1—-j(—7
- ( s ,5}—(l}x{l-::{]}—{14.31{1{]1_3].(0.9:539?{—1.66))=1‘.]_9|}9616::—5.32
1481<-7871 (1<0)




: 2-1 Jlis > aolsl
AV, =[77™| - 73| = 0.96897 —1=—.03103 il Kb )
AV, =[5 - |75™| = 0.909616 —1=—.09038
|A¥]| = 0.09038 > £ =0.0005

La9d LISy

V,=|V,|pec<0=1<0 V,=0.96897<-1.66 B 3ls sl
V,=0.909616<-5.32

S22 5l e il Sl Llg>

V=V, |ec<0=1<0
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PV sl b dybio gusS Ging 5 @ 5b iy :3-1 Jlio

G2
2+jQc,

v,

3.4+1.1

V3

1.9+j2.2

5l si,ke bghas alai vy Jso Slguilies] G99 53 aliussan 5

Ys=48.7 y,=0
V,=1.02<0 5l bso yub 1 gl
125Qg<2 sy |V, e =1.01 LPVEg 5l 2 gl

S I JyalarusS i) 4 LS absj0 & 5l gy 1) 3 92 Slewls 5

: 3-1 Jlio J>
gl yuilizod] yuy silo uul>o

2y, —-y. -V —j174 ;8.7 Jj8.7
F.=l-». 2v. -y |=| BT -—-j174 ;&7

-y, —¥V, 2y j8.7 j8T7 —j174

Dasmz OGE_ Q.Dﬁ = ﬂ— 22 =—2.2

1< Q,, <2

1-1.1< 9" =0, -0, <2-1.1

-0.1< Q)" <09




Jsl LS 2 3-1 Jlio J> 4ol

V,=1.02<0 Vo= Vo€ <0=1.01<0 V;=1<0

fg=g.|yﬁnrz|m|sm@—ca ~8,)

=3, V3|7 56, — & — 8,) + |33, 75| $InS, — 6, — B,) + |35 T3] P3| sin, — 5, — 6,)
=8.7x1.01x1.02xsin(0—0—90) +17.4x1.01x1.01xsin0—0+90) + 8.7 x1.0 1x1xsin(0—0—90)
=0

el by 3y 51,8 o5 5o -0.1<f,=0<0.9 (=

_ . sch
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1 —1.4—j0 : ; =
—(/BTN102 <0)—(jB8.7)N1=<0)|=1.0131 < —4.51
L Fa - rsnae <o-gena<o)

: 3-1 Jlo J> aolsl
V, = | V| < -4.51 = 1.01<-4.51 ol b

Pfd _jQ:c.& 3
V. _Z.}J3t'Vf

3 b=l
Ew3

P:i:?l_jgscﬁ
: I"". : _J};l'Ifl_.}’n'Fz
3

1 (—1-9—1(—2-2) —(j8.7)(1.02 < 0)—(j8.7)(1.01 < —4_51)] =0.8896 < —9.64°

—j17.4 10<0




